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Section 1 - PaperI-English Language 

 

1) Select the correct option.  
Generally speaking, __________ women are mentally 
stronger than men. 

 
A) a  
B) the  
C) no article  
D) an  

 

 
Read the passage and answer the questions that follow: 
 
Origin myths –History of TeaIn one popular Chinese 
legend, Shennong, the legendary Emperor of China and 
inventor of agriculture and Chinese medicine was drinking 
a bowl of just boiled water due to a decree that his 
subjects must boil water before drinking it. Some time 
around 2737 BC, a few leaves were blown, from a nearby 
tree, into his water, changing the color and taste. The 
emperor took a sip of the brew and was pleasantly 
surprised by its flavor and restorative properties. A variant 
of the legend tells that the emperor tested the medical 
properties of various herbs on himself, some of them 
poisonous, and found tea to work as an antidote. 
Shennong is also mentioned in Lu Yu's famous early work 
on the subject, The Classic of Tea. A similar Chinese 
legend goes that the god of agriculture would chew the 
leaves, stems, and roots of various plants to discover 
medicinal herbs. If he consumed a poisonous plant, he 
would chew tea leaves to counteract the poison.A rather 
gruesome legend dates back to the Tang Dynasty. In the 
legend, Bodhidharma, the founder of Chan Buddhism, 
accidentally fell asleep after meditating in front of a wall 
for nine years. He woke up in such disgust at his 
weakness that he cut off his own eyelids. They fell to the 
ground and took root, growing into tea bushes. 
Sometimes, another version of the story is told with 
Gautama Buddha in place of Bodhidharma.Scholars 
however believe that tea drinking likely originated in the 
southwest of China, and that the Chinese words for tea 
themselves may have been originally derived from the 
Austro-Asiatic languages of the people who originally 
inhabited that area.Whether or not these legends have 
any basis in fact, tea has played a significant role in Asian 
culture for centuries as a staple beverage, a curative, and 
a status symbol. It is not surprising, therefore, that 
theories of its origin are often religious or royal in nature.  

 
 
 
 
 

2) Tea is NOT considered to be a/an  

A) status symbol  
B) antidote  
C) curative  
D) appetizer  

 

 
 
3) According to Chinese Legend, the emperor  

A) drank the boiling water containing tea leaves  
B) chewed the leaves, stems and roots of the tea plant 
C) drank the tea leaf juice  
D) consumed the antidote tealeaf capsules  

 

 
 
4) According to Tang dynasty legend, the tea bush grew 
from Bodhidharma’s  

A) nails  
B) eyebrows  
C) eyelashes  
D) eyelid  

 

 
 
5) Tea drinking is likely to have originated from  

A) Southwest China  
B) Tang Dynasty  
C) Chan Buddhism  
D) Austro Asiatic Region  

 

 
 
6) Tea has played a significant role as a beverage, status 
symbol and curative for centuries in the  

A) Austro Asiatic culture  
B) Chinese culture  
C) Southwestern Chinese culture  
D) Asian culture  
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7) What is the plural form of Wolf?  

A) Wolfs  
B) Wolves  
C) Wolvies  
D) Wolf's  

 

 
 
8) Select the correct form of verb from the given options.  
Sorry, she can't come to the phone. She ____________ a 
bath! 

A) is taking  
B) takes  
C) took  
D) had been taking  

 

 
 
9) Find the most appropriate opposite meaning word: 
SHRINK  

A) Develop  
B) Condense  
C) Contract  
D) Dwindle  

 

 
 
10) Find the most appropriate opposite meaning word: 
QUIESCENT  

A) Weak  
B) Dormant  
C) Active  
D) Unconcerned  
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Section 2 - PaperI-Education and General Awareness 

 

11) Which of the following statements is CORRECT with 
reference to National Council of Educational Research 
and Training (NCERT)?  

A) It is a private organisation, established in 1961  
B) It is an autonomous organization, established in 1980 
C) It is a private organisation, established in 1980  
D) It is an autonomous organization, established in 1961 

 

 
 
11) ନମିȪମżରୁ େକଉଁଟ ିନȻାସନାଲ କାଉନିȷଲ ଅଫ ଏଜୁେକସନ ରିସőƽ ଆŢ େǺନଂି 
ପାଇଁ ସଠକି ଅେଟ?  

A) ଘେରାଇ ସଂƳା, 1961 େର ଅବƳାପତି  
B) Ƹୟଂଶାସିତ ସଂƳା, 1980 େର ଅବƳାପତି  

C) ଘେରାଇ ସଂƳା, 1980 େର ଅବƳାପତି  
D) Ƹୟଂଶାସିତ ସଂƳା, 1961 େର ଅବƳାପତି  

 

 
 
12) The National Policy on Education, 1986 and 
Programme of Action, 1992 emphasized the adoption of 
regional languages as the medium of instruction at which 
of the following stages of education?  

A) Upper primary  
B) University  
C) High school  
D) Primary  

 

 
 
12) ଦ ନȻାସନାଲ ପଲିସ ିଅନ ଏଜୁେକସନ, 1986 ଓ େȄାǲାମ ଅଫ ଆŅନ, 
1992 ନମିȪମżରୁ େକଉଁ ପଯƽȻାୟ ପାଇଁ ନେିŵƽଶାବଳୀଗଡୁକିର ମାżମ ଭାେବ 
ଆřଳିକ ଭାଷାଗୁଡକୁି ǲହଣ କରǆିଲା?  

A) ଉő Ȅାଥମକି  
B) ୟୁନଭିସǃଟ ି 

C) ଉő ବଦିȻାଳୟ  
D) Ȅାଥମିକ  

 

 

 
 

13) The fluid part of blood made of water, salts, and 
protein is known as  

A) hormone  
B) myosin  
C) plasma  
D) platelet  

 

 
 
13) ରĽର ତରଳ ଅଂଶ ଯାହା ଜଳ, ଲବଣ ଓ େȄାଟନିେର ତଆିରି ତାହାକୁ କଣ 
କୁହାଯାଏ?  

A) ହରେମାନ  

B) ମାେୟାସନି  

C) ପȲାǐ ମା  
D) େପȲଟେଲଟ  

 

 
 
14) Which of the following options is CORRECT with 
respect to the qualifications prescribed to become the 
Vice President of India?  

A) He/she must be the Chairman of the Rajya Sabha  
B) He/she must be qualified for election as a member of 

the Council of States  
C) He/she must be qualified for election as a member of 

the Legislative Council  
D) He/she must be the Speaker of the Lok Sabha  

 

 
 
14) ଭାରତର ଉପ ରାƩପତ ିେହବା ପାଇଁ ସପୁାରିଶ ǆବା େଯାଗȻତା ସƓକƽେର 
ନମିȪ ବକିƝଗଡୁକି ମżରୁ େକଉଁଟ ିଠିକ?  

A) େସ ରାଜȻସଭାର ଅżŁ େହାଇǆେବ  
B) େସ ରାଜȻସଭାର ସଭȻ ଭାେବ ନବିƽାଚତି େହବା ପାଇଁ େଯାଗȻ େହାଇǆେବ 

C) େସ ବଧିାନପରିଷଦର ସଭȻ େହବା ପାଇଁ େଯାଗȻ େହାଇǆେବ  

D) େସ େଲାକସଭାର ଅżŁ େହବା ପାଇଁ େଯାଗȻ େହାଇǆେବ  
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15) The National Commission on Teachers–I (1983-85) 
suggested that the term 'Practice Teaching' should be 
replaced with the term  

A) Internship  
B) Apprenticeship  
C) School Training  
D) Practice Training  

 

 
 
15) ନȻାସନାଲ କମିସନ ଅନ ଟଚିସƽ -I (1983-85)େର ସପୁାରଶି କରି ǆେଲ 
େଯ "Ȅାକିȡସ ଟଚିŏି" ପଦଟ ିନମିȪମżରୁ େକଉଁ ପଦ ସହ ବଦଳ େହବା ଉଚତି.  

A) ଇŠନƽସǝି   
B) ଇେŠǜ ସଭି ଇŠନƽସǝି   
C) Ưଲୁ େǺନŏି  

D) Ȅାକିȡସ େǺନŏି  
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Section 3 - PaperI-Reasoning 

 

16) Komal and Vimal invested Rs. 2000 and Rs. 3600 
respectively in a business. If the annual profit is Rs. 
84000, then what is Vimal's share in profit?  

A) Rs. 40000  
B) Rs. 36000  
C) Rs. 54000  
D) Rs. 48000  

 

 
 
16) ଏକ ବȻବସାୟେର େକାମଲ ଏବଂ ବମିǤ ǰମଅନୁସାେର 2000 ଏବଂ 
3600 ଟŋା ନେିବଶ କରିǆେଲ । ଯଦ ି ବାଷǃକ ଲାଭ 84000 ଟŋା ହୁଏ, 
ତାେହେଲ ଲାଭେର ବମିଲର ଅଂଶଧନ େକେତ ?  

A) Rs. 40000  
B) Rs. 36000  
C) Rs. 54000  
D) Rs. 48000  

 

 
 
17) Instruction: 
In the following questions mark:  
1, if the question can be answered with the help of 
statement I alone. 

2, if the question can be answered with the help of 
statement II alone. 

3, if the question can be answered with the help of both I 
and II. 

4, if the question can't be answered at all. 
 
What is the present age of Alex? 
 
Statement I : Alex is the youngest son of Brian. 
Statement II : Alex's only sister Dolly is three years 
younger to him. 

 
A) 3  
B) 1  
C) 4  
D) 2  

 

 
 
 
 
 
 

17) ନେିŵƽଶାବଳୀ: ନମିȪଲିǅତ ȄଶȪେର  
1 ଚƺିଟ କରŽୁ ଯଦ ିେକବଳ ମŽବȻ I ସାହାଯȻେର ȄଶȪର ଉŧର 
ଦଆିଯାଇପାରୁଛ ି।  

2 ଚƺିଟ କରŽୁ, ଯଦ ିେକବଳ ମŽବȻ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ 
ପାରୁଛ ି।  

3, ଯଦ ିଉଭୟ I ଏବଂ II ସହେଯାଗେର ȄଶȪର ଉŧର ଦଆିଯାଇ ପାରୁଛ ି।  

4, ଯଦ ିȄଶȪର ଉŧର େକେବ ବ ିଦଆିଯାଇ ପାରବି ନାହ ǂ । 

  

ବŧƽମାନ ଆେଲŅର ବୟସ େକେତ ? 

ମŽବȻ I : ଆେଲŅ େହଉଛ ିେȆନŋର ସବୁଠୁ ସାନ ପୁଅ । 

ମŽବȻ II : ଆେଲŅର େଗାଟଏି ଉଭଣୀ ଡଲି ଯିଏକ ିତାଠାରୁ 3 ବଷƽ ସାନ । 

 
A) 3  
B) 1  
C) 4  
D) 2  

 

 
 
18) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts. 
 
Statements: 
Some fights are acts. 
All the dances are acts. 
 
Conclusions: 
I) Some acts are dances. 
II) Some acts are fights.  

A) Both I and II follows  
B) None of the conclusions follow  
C) Only II follows  
D) Only I follows  
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18) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କିଛ ିନƯିଷƽ ଦଆିଯାଇଛ ି
। ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ି
ଏହା ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ 
ପଢŽୁ ଏବଂ ତାପେର ନƬିŧ ିନଅିŽୁ, ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ 
ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ: 
 
କଛି ିମାରପିǓ େହଉଛ ିଅଭିନୟ। 
ସବୁ ନୃତȻ ଗଡୁକି ଅଭିନୟ । 

ନƦିସƽ:  

I) କଛି ିଅଭିନୟ ଗଡୁକି ନୃତȻ ।  

II) କଛି ିଅଭିନୟ ଗଡୁକି ମାରପିǓ । 

 
A) ଉଭୟ I ଏବଂ II ଅନୁସରଣ କରŽୁ  

B) େକୗଣସ ିବ ିନƦିସƽକୁ ଅନୁସରଣ କରŽୁ ନାହǂ  
C) େକବଳ II ଅନୁସରଣ କରŽୁ  

D) େକବଳ I ଅନୁସରଣ କରŽୁ  
 

 
 
19) Instruction: Below mentioned are statements 
followed by some conclusions. You have to take the 
given statements to be true even if they seem to be at 
variance from the commonly known facts. Read all the 
conclusions and then decide which of the given 
conclusions logically follows from the given statements 
disregarding commonly known facts.  
Statements: 
Some relays are fuses. 
All the breakers are fuses. 
All the isolators are relays. 
 
Conclusions: 
I) No isolator is fuse. 
II) All the relays are isolators. 
III) All the fuses are breakers. 

 
A) Both conclusions I and III follow  
B) Only conclusion I follows  
C) None of the conclusions follow  
D) Only conclusion II follows  

 

 
 
 
 

19) ନେିŵƽଶାବଳୀ: ତେଳ ଦଆିଯାଇǆବା ମŽବȻ ପଛକୁ କଛି ିନƯିଷƽ ଦଆିଯାଇଛ ି
। ଆପଣŋୁ ଦଆିଯାଇǆବା ମŽବȻକୁ ସତȻ େବାଲି ମାନବିାକୁ ପଡବି ଯଦଓି ବ ିଏହା 
ସାଧାରଣେର ଜଣାǆବା ତଥȻଠାରୁ ଭƊି େଦଖାଯାଉଥାଏ । ସମƱ ନƦିସƽକୁ ପଢŽୁ 
ଏବଂ ତାପେର ନƬିŧି ନଅିŽୁ, ଦଆିଯାଇǆବା ନƦିସƽ ମżରୁ େକଉଁଟା ସାଧାରଣେର 
ଜଣାǆବା ତଥȻର ଅବମାନନା କରୁǆବା ମŽବȻକୁ ଠǉି ଭାେବ ଅନୁସରଣ କରୁଛ ି।  
ମŽବȻ:   

କଛି ିରେିଲ େହଉଛ ିଫୁȻǐ ।   

ସବୁ େȆକǣ ଗଡୁକି େହଉଛ ିଫୁȻଜ ।  

ସବୁ ଆଇେସାେଲଟǣ ଗଡୁକି େହଉଛ ିରେିଲ ।  

 

ନƦିସƽ:  

I)  େକୗଣସ ିଆଇେସାେଲଟǣ ଫȰ ɰଜ ନୁହŽଁ ି।  

II) ସବୁ ରେିଲ ଗଡୁକି େହଉଛ ିଆଇେସାେଲଟǣ ।    

lll) ସବୁ ଫୁȻଜ ଗଡୁକି େହଉଛŽି େȆକର । 

 
A) ଉଭୟ ନƦିସƽ I ଏବଂ  III ଅନୁସରଣ କରŽୁ ।  
B) େକବଳ  ନƦିସƽ I  ଅନୁସରଣ କରŽୁ ।  
C) େକୗଣସ ିନƦିସƽ ଅନୁସରଣ କରŽୁ ।  
D) େକବଳ ନƦିସƽ II ଅନୁସରଣ କରŽୁ ।  

 

 
 
20) In a certain code language AUGUST is written as 
ISCRUS. How is PLANET written in that code language?  

A) CNRVGP  
B) CJRVCP  
C) ALPTEN  
D) CJRRGL  

 

 
 
20) ଏକ ନŵିǃƨ ସାେŋତକି ଭାଷାେର AUGUST  କୁ ISCRUS େବାଲି 
େଲଖାଯାଏ । େସହ ିସାେŋତକି ଭାଷାେର PLANET କୁ କଭିଳ ିେଲଖାଯିବ?  

A) CNRVGP  
B) CJRVCP  
C) ALPTEN  
D) CJRRGL  
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Section 4 - PaperI-Teaching Aptitude 

 

21) According to Pratham’s Annual Status of Education 
2013 report, Which of the following is a great concern 
about class-appropriate learning?  

A) Nationally 29 percent of children drop out before 
completing five years of primary school  

B) Close to 78 percent of children in Standard III and 
about 50 percent of children in Standard V cannot yet 
read Standard II texts.  

C) Only 53 percent of schools have functional girls’ 
toilets and 74 percent have access to drinking water. 

D) There is a teacher shortage of 689,000 teachers in 
primary schools  

 

 
 
21) Ȅଥମŋ Ÿାରା ȄƱୁତ ଶŁିାର ବାଷǃକ Ƴତି ି୨୦୧୩ ରେିପାଟƽ ଅନୁଯାୟୀ, 
େȎଣୀ-ଉପଯĽୁ ଶŁିାକୁ େନଇ ନମିȪଲିǅତ ମżରୁ େକଉଁଟ ିଏକ ଚŽିାର କାରଣ ?  

A) ଜାତୀୟƱରେର 29 Ȅତଶିତ ପଲିା Ȅାଥମକି ଶŁିାର ପାଂଚବଷƽ ପୂରଣ 
କରବିା ପୂବƽରୁ ପାଠ ଛାଡୁଛŽ ି 

B) ୩ୟ େȎଣୀେର ǆବା ପାଖାପାǅ 78 Ȅତଶିତ ଓ ୫ମ େȎଣୀେର ǆବା 
ପାଖାପାǅ 50 Ȅତଶିତ ପିଲା୨ୟ େȎଣୀର ପାଠ ପଢ ିପାରୁନାହାŽି |  

C) େକବଳ 53 Ȅତଶିତ ବଦିȻାଳୟେର ବାଳକିା େଶୗଚାଳୟ ଓ 74 Ȅତଶିତ 
Ƴାନେର ପାନୀୟ ଜଳର ସୁବଧିା ରହଛି ି|  

D) Ȅାଥମିକ ବଦିȻାଳୟ ଗଡୁକିେର 689,000 ଶŁିକ ଅଭାବ ଅଛŽ ି 
 

 
 
22) Which of the following teaching models can be termed 
as 'Formal Authority'?  

A) The one where the teacher emphasizes student-
centered learning and there is much more 
responsibility placed on the students  

B) The one where the teacher operates under personal 
model style with an emphasis on demonstration and 
modelling  

C) The one where the teacher tends to place much 
control and responsibility for learning on individuals or 
groups of students  

D) The one where the teacher is in a position of power 
and leadership possessing more knowledge than 
students  

 

 
 
 
 

22) ନମିȪଲିǅତ ମżରୁ େକଉଁ ଶିŁଣ ମେଡ଼ଲ କୁ 'ଔପଚାରକି ȄାǇକରଣ' କୁହା 
ଯାଇପାେର?  

A) େସଠାେର େଯଉଁଠାେର ଶŁିକ ଛାǿ େକƄତି ଶିǅବା ଉପେର େଜାର 
େଦଇଥାŽ ିଓ େସଠାେର ଛାǿ ମାନŋ ଉପେର ଅǇକ ଦାୟିŭ ରହଥିାଏ।  

B) େସଠାେର େଯଉଁଠାେର ଶŁିକ Ȅଦଶƽନ ଓ ମେଡଲିŏ ଉପେର େଜାǣ େଦବା 
ସହତି ବȻĽିଗତ ମେଡ଼ଲ େଶୖଳୀ ଅŽଗƽତ କାମ କରଥିାଏ।  

C) େସଠାେର େଯଉଠଁାେର ଶŁିକ ବȻĽିମାେନ କମିȴା ଛାǿ ମାନŋର ସମହୂ 
ଉପେର ଶǅିବା ପାଇଁ ବହୁତ ନୟିſଣ ଓ ଦାୟିŭ େଦଇଥାŽି।  

D) େସଠାେର େଯଉଁଠାେର ଶŁିକ ଛାǿ ମାନŋର ତୁଳନାେର ଅǇକ ŗାନ 
ରǅବାର ଶĽି ଓ େନତୃŭ ର Ƴତି ିେର ଥାଆŽ।ି  

 

 
 
23) Skinner conducted his experiments on the following 
animals  

A) Pigeons and rats  
B) Rats only  
C) Parrots and pigeons  
D) Pigeons only  

 

 
 
23) Ưିନର ତାŋ ପରୀŁାଗଡ଼ୁକି ନମିȪଲିǅତ େକଉଁ ପଶୁ ଉପେର କରǆିେଲ ?  

A) ପାରା ଓ ମୂଷା  
B) େକବଳ ମୂଷା  
C) ଶୁଆ ଓ ପାରା  
D) େକବଳ ପାରା  

 

 
 
24) Which of the following activities is NOT a part of 
ending the class?  

A) Summarizing the class by reflecting on the learning 
and the improvements needed  

B) Ensuring all materials used are put at the proper place 
and the classroom is clean  

C) Discussing the behaviour expected from the students 
under various conditions  

D) Reminding students what they need to do to prepare 
for the next day  
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24) ନମିȪମżରୁ େକଉଁ ǰିୟାକଳାପ େȎଣୀ େଶଷ କରବିାର ଏକ ଅଂଶ ନୁେହ?ଁ  

A) ଶŁିା ଓ ଆବଶȻକ ǆବା ବକିାଶ ବଷିୟେର Ȅତଫିଳନ କରି େȎଣୀର ସାରାଂଶ 
କରବିା  

B) ସମƱ ସାମǲୀ େସଗଡୁକିର ସଠକି Ƴାନେର ରହବିା ଓ େȎଣୀଗୃହ ସଫା ǆବା 
ସନୁƢିିତ କରବିା  

C) ବଭିିƊ ପରƳିିତେିର ବଦିȻାଥƽୀମାନŋ ଠାରୁ ଆଶା କରାଯାଉǆବା ବȻବହାର 
ଉପେର ଆେଲାଚନା କରବିା  

D) ପରବŧƽୀ ଦନି ବଦିȻାଥƽୀମାେନ କଣ ȄƱୁତ କରେିବ େସ ବଷିୟେର େସମାନŋୁ 
ମେନ ପେକଇବା  

 

 
 
25) Which of the following statements is TRUE with 
reference to the aims of education under totalitarian 
system?  

A) Education ensures that the aims of human life always 
change with changing time  

B) Education enables the individual to control his 
environment and fulfil his possibilities  

C) Education becomes stereotyped and education takes 
the form of indoctrination  

D) Education leads to self-expression or self-gratification 
 

 
 
25) ନମିȪଲିǅତ ମżରୁ େକଉଁ ବĽବȻ ଅǇନାୟକବାଦୀ ବȻବƳା ଅŽଗƽତ ଶିŁା ର 
ଉେŵଶȻ ର ସƃଭƽେର ସତȻ (TRUE) ଅେଟ?  

A) ଶŁିା ଏହା ସନୁƢିିତ କରଥିାଏ େଯ ମାନବ ଜୀବନ ର ଉେŵଶȻ ସବୁେବେଳ 
ବଦଳୁǆବା ସମୟ ସହତି ବଦଳଥିାଏ  

B) ଶŁିା ବȻĽିŋୁ ନଜିର ପଜƽȻାବରଣ କୁ ନୟିſତି କରବିା ଓ ତାହାର ସƗାବନାକୁ 
ପୂରଣ କରବିା ପାଇଁ ସŁମ ବନାଇଥାଏ  

C) ଶŁିା ରୁଢୀ େହାଇଯାଇଥାଏ ଓ ଶିŁା ସȭେଦଶକିରଣ ରୂପ େନଇଥାଏ  

D) ଶŁିା ଆŮ - ଅଭିବȻĽି କମିȴା ଆŮ-ସŽୁƨି ଆଡକୁ ବଢଚିାଲିଛ ି 
 

 
 
26) Which of the following ensures that no teacher is 
scheduled for too many back-to-back classes or for two 
classes at the same time?  

A) Syllabus  
B) School diary  
C) Curriculum  
D) Time table  

 

 
 

26) ନମିȪମżରୁ େକଉଟଁ ିଏହା ସୁନƢିିତ କେର େଯ େକୗଣସ ିଶŁିକŋୁ ଲଗାତାର 
େȎଣୀ େନବାକୁ ବା ଏକ ସମୟେର ଦୁଇଟ ିେȎଣୀ େନବାକୁ ପଡବି ନାହ ǂ |  

A) ସଲିାବǩ   
B) ବଦିȻାଳୟ ଡାଏରୀ  
C) ପାଠȻǰମ  

D) ସମୟ ନଘିƽŠ  
 

 
 
27) In order to improve the quality of school education in 
India, NPSSE is initiated by the Government of India. 
What does NPSSE stand for?  

A) National Programme on School Standards and 
Evaluation  

B) National Provision for School Standards and 
Evaluation  

C) National Programme on School Standards and 
Examination  

D) National Programme on Secondary Schools and 
Evaluation  

 

 
 
27) ଭାରତେର Ưଲୁ ଶŁିାର ମାନ ବୃŶ ି ନମିେŽ ଭାରତ ସରକାରŋ Ÿାରା 
ଏǜ ପିଏǩ ଏǩ ଇ ( NPSSE ) ଆରƗ କରାଯାଇǆଲା। ଏǜ ପିଏǩ ଏǩ ଇ 
(NPSSE ) କହେିଲ କ’ଣ ବୁଝାଏ?  

A) ନȻାସନାǤ  େȄାǲାǡ  ଅǜ  ƯǤୁ  ƨାŢାଡƽସ ଆŢ ଇଭାଲୁȻଏସǜ   
B) ନȻାସନାǤ  େȄାଭିଜǜ  ଫǣ  ƯǤୁ  ƨାŢାଡƽସ ଆŢ ଇଭାଲୁȻଏସǜ   
C) ନȻାସନାǤ  େȄାǲାǡ  ଅǜ  ƯǤୁ  ƨାŢାଡƽସ ଆŢ ଏକȞାମିେନସǜ   
D) ନȻାସନାǤ  େȄାǲାǡ  ଅǜ  େସେକŢାରୀ ƯǤୁ ସ  ଆŢ ଇଭାଲୁȻଏସǜ   

 

 
 
28) The Central Institute of Educational Technology is an 
institution under which of the following organisations?  

A) ISCE  
B) UGC  
C) NCERT  
D) AICTE  
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28) େସŠȱାǤ  ଇǜ ƨିଚୁȻǓ  ଅǞ  େଟେକȪାେଲାଜ ିନେିମȪାĽ ସଂଗଠନ ମżରୁ କାହା 
ଅଧୀନେର ǆବା ଏକ ଅନୁƪାନ?  

A) ଆଇଏǩ ସଇି (ISCE)  
B) ୟୁଜସି ି(UGC)  
C) ଏǜ ସିଇଆǣ ଟ ି(NCERT)  
D) ଏଆଇସଟିଇି (AICTE)  

 

 
 
29) The question answer method of discussion and 
teaching was propounded by  

A) Spencer  
B) Freud  
C) Aristotle  
D) Socrates  

 

 
 
29) ȄଶȪ-ଉŧର ଆେଲାଚନା ଓ ଶିŁାଦାନ ପŶତକୁି କଏି ବାହାର କରିǆେଲ ?  

A) େƶନସǣ  

B) ȅଏଡ  
C) ଆରେିƨାଟǤ  
D) ସେǰଟǩି  

 

 
 
30) In Force field analysis, when the proposed change is 
to incorporate student-centered learning, which of the 
following is the restraining force, if the favouring force is, 
'When the students enjoy learning, they are less likely to 
misbehave'?  

A) Teaching - learning process should be away from fun 
to obtain success  

B) Teachers have the right to command the classroom  
C) Teachers will lose face if they are not the purveyors 

of knowledge  
D) Learning is not meant for enjoyment and recreation  

 

 
 
 
 
 
 
 
 

30) ଶĽି େŁǿ ବେିଶȲଷଣେର, ବଦିȻାଥƽୀ-େକƄୖକି ଶŁିାେର େଯେତେବେଳ େକୗଣସ ି
ȄƱାବତି ପରବିŧƽନକୁ ଲାଗୁ କରାଯାଏ, ଯଦ ି ସମଥƽନ କରୁǆବା ଶĽି େହଉଛ ି
’େଯେତେବେଳ ବଦିȻାଥƽୀମାେନ ଶǅିବାର ମଜା ନଅିŽ,ି େସମାେନ କମ ଖରାପ 
ବȻବହାର କରŽ’ି, େତେବ ବେିରାଧ କରୁǆବା ଶĽି ନମିȪମżରୁ େକଉଁଟ?ି  

A) ସଫଳତା ପାଇବା ପାଇଁ ଶŁିାଦାନ-ଶŁିା ǲହଣ Ȅǰିୟା ମƱିମଜା ଠାରୁ 
ଦୂରେର ରହବିା ଆବଶȻକ  

B) େȎଣୀଗୃହେର ନେିŵƽଶ େଦବାର ଅǇକାର ଶŁିକŋ ଅଛ ି 
C) ଯଦ ିଶିŁକମାେନ ŗାନର େଯାଗାଣକାରୀ ନ ଅଟŽ ିେତେବ େସମାନŋ ନାକ 

କଟଯିିବ  

D) ଶŁିାର ଅଥƽ ଉପେଭାଗ ଓ ଚŧି ବେିନାଦନ ନୁେହ ଁ 
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Section 5 - PaperII-Odia Language 

 

31) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘େରାଗୀ’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ନେିରାଗ  

B) ଅେରାଗୀ   
C) ଅେରାଗ  
D) ନେିରାଗୀ   

 

 
 
32)  ' େକଉଟ ' ର ସଂƯତୃ ଶƑ ଉେơଖ କର |  

A)  େକବଟ  
B) େକଓଟ   

C) େକୖବŧƽ  
D) େକବŧƽ  

 

 
 
33) ନମିȪଲିǅତ ମżରୁ େକଉଁ େଯାଡ଼ା ସମପଯƽȻାୟବାଚୀ ଶƑ ନୁହŽଁ ି?  

A) େଦବତା-ଅମର   
B) ଗାଭୀ-େଗାମାତା  
C) ସଂିହ-େକଶରୀ  
D) ନଭ-େନǿ   

 

 
 
34) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି'ସାରŏ'ର ସମାନାଥƽକ ଶƑ ନୁେହ?ଁ  

A) େକାକଳି  
B) େଘାଡା   
C) ମଗୃ  

D) ସଂିହ  
 

 
 
35) ନଦୀର ଜଳ – ଏଠାେର େକଉଁ ବଭିĽିର ଚƺି ବȻବହାର େହାଇଛ ି?  

A) ଷƪୀ  
B) ସƌମୀ  
C) ଚତୁଥƽୀ  
D) ପřମୀ  

 

 

36) ‘ସମȴƆ ପଦ’ େର େକଉଁ ବଭିĽି ହୁଏ ?  

A) ତୃତୀୟା  
B) ଷƪୀ   
C) ପřମୀ  
D) ଚତୁଥƽୀ  

 

 
 
37) 'ପାନଆି'ଁ- େକଉଁ େȎଣୀ ର ଶƑ ଅେଟ?  

A) େଦଶଜ  
B) ତǘ ସମ  

C) ତǚ ଭବ  
D) େବୈଦଶିକ   

 

 
 
38) ପଲିାଟ ିେଭାକେର କାƃୁଛ ି।- େରଖାŋିତ ପଦଟ ିେକଉଁ ବଭିĽି େଯାେଗ ଗଠିତ 
େହାଇଛ ି?  

A) ତୃତୀୟ  

B) Ȅଥମା  
C) ଚତୁଥƽୀ  
D) Ÿତିୀୟ  

 

 
 
39) ଅସƓĽୃ ଶƑକୁ ପଥୃକ କର |  

A)  ଭĽି  
B) ଖȻାତ ି 

C) ଦƗ  
D) ଦୁଗƽା  

 

 
 
40) ‘ଘର ଢŋିି କୁƗୀର’ ରୂଢଟିରି ଅଥƽ କ’ଣ ?  

A) କୁƗୀର େଦǅବା   
B) େଘାର ଶତƿତା  
C) ନଜିେଲାକ ଶତƿ   
D) ଢŋିି କୁଟବିା   
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41) େଯଉଁ ବେିଶଷȻ ଗଡୁକୁି େଦǅ ବା ƶଶƽ କରିହୁଏ , ତାହାକୁ କ ି ବେିଶଷȻ 
କୁହାଯାଏ ?  

A) ଗଣନୀୟ  
B) ମୂŧƽ ବାଚକ  
C) ମେନାǲହȻ  
D) ଅମୂŧƽ ବାଚକ   

 

 
 
42) ‘ପାଣି ଛଡ଼ାଇବା’– ରୂଢିଟରି ଅଥƽ କ’ଣ ?  

A) ପୂଜା କରବିା   
B) ସମକŁ ନେହବା   
C) ଗାେଧାଇବା  
D) ଆଶା ନ ରǅବା   

 

 
 
43) ଅତ ି କୁହାଳଆି ପŠୁି ପରୀŁାେର େଫଲ େହଲା | ଉĽ ବାକȻେର େକଉଁଟ ି
ବେିଶଷଣର ବେିଶଷଣ ପଦ ଚƺିଟ କର | 

A) େଫǤ  

B) ଅତ ି 
C) ପରୀŁା  
D) କୁହାଳଆି  

 

 
 
44) ନମିȪଲିǅତ ମżରୁ େକଉଟଁ ି‘ତେିରାଧାନ’ ଶƑର ବପିରୀତ ଶƑ ?  

A) ଉǚ ଘାଟନ  
B) ବସିଜƽନ   

C) ଆବାହନ   
D) ଆବଭିƽାବ   

 

 
 
45) ' ଛଳ ଛଳ' - ଉĽ ଶƑଟ ିେକଉଁ Ȅକାର ଯଗୁȯ ଶƑ ?  

A) ସମାନାଥƽକ  
B) ŻନȻାŮକ  

C) ସାଥƽକ ଓ ନରିଥƽକ   
D) ŸରୁିĽି  
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Section 6 - PaperII-Mathematics 

 

46) A square garden with a side length of 150 m has a 
square swimming pool in the very center with a side length 
of 25 m. The area of the land excluding the pool in the 
garden is  

A) 22500 m2  
B) 21750 m2  
C) 21875 m2  
D) 22550 m2  

 

 
 
46) 150ମଟିର େଦଘୖƽȻ ବଶିƨି ଏକ ବଗƽାକାର ବଗିଚାର ଠǉି  ମżଭାଗେର ଏକ 
ବଗƽାକାର ସୁଇମିଂ ପǤୁ  ରହଛି ିଯାହାର େଗାଟଏି ପାƤƽର େଦଘୖƽȻ 25 ମଟିର । ପǤୁ କୁ 
ବାǚ  େଦଇ ଉଦȻାନର େŁǿଫଳ େହଉଛ ି 

A) 22500 ବଗƽ ମିଟର  
B) 21750 ବଗƽ ମିଟର  
C) 21875 ବଗƽ ମିଟର  

D) 22550 ବଗƽ ମିଟର  
 

 
 
47) Jack paid Rs 3,50,000 for his new car. This was 7/8th 
of the suggested selling price of the car. What was the 
original selling price of the car?  

A) Rs. 4,50,000  
B) Rs. 3,00,000  
C) Rs. 4,00,000  
D) Rs. 3,50,000  

 

 
 
47) ଜȻାକ ତାର ନୂଆ କାର ପାଇଁ ଟ 3,50,000 େପଠୖ କରଲିା | ଏହା େହଉଛ ି
କାରର ȄƱାବତି ବǰିି ମୂଲȻର 7/8 ଅଂଶ | କାରର ବାƱବକି ବǰିି ମୂଲȻ େକେତ?  

A) ଟ. 4,50,000  
B) ଟ. 3,00,000  

C) ଟ. 4,00,000  
D) ଟ. 3,50,000  

 

 
48) If a product is purchased for Rs. 490 and sold for Rs. 
465.50, then the loss percent is  

A) 5%  
B) 15% 

  

C) 20%  
D) 10%  

 

 
 
48) ଯଦ ିେଗାଟଏି ଉŬାଦ Rs. 490 େର କଣିାଗଲା ଏବଂ Rs. 465.50 ବǰିୟ 
କରାଗଲା, େତେବ Łତରି ପରମିାଣ େହଉଛ ି 

A) 5%  
B) 15%  
C) 20%  
D) 10%  

 

 
 
49) The product of (x + 5)(x – 3) equal to  

A) x2+6x-9  
B) x2+2x-15  
C) x2+8x-15  
D) x2+2x-9  

 

 
 
49) (x + 5)(x – 3) ର ଗୁଣଫଳ େହଉଛ ି 

A) x2+6x-9  
B) x2+2x-15  

C) x2+8x-15  

D) x2+2x-9  
 

 
 
50) Three boys A, B and C start at the same time in the 
same direction to run around a circular stadium, starting 
from the same point. A completes a round in 126 seconds, 
B in 154 seconds and C in 99 seconds. After what time 
will they again meet at the starting point?  

A) 23 minutes and 6 seconds  
B) 26 minutes and 6 seconds  
C) 46 minutes  
D) 42 minutes and 36 seconds  
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50) ତନିଜିଣ ବାଳକ A, B ଏବଂ C ସମାନ ସମୟେର, ସମାନ ଦଗିେର ଏବଂ 
ସମାନ Ƴାନରୁ ଏକ େଗାଲାକାର ƨାଡୟିǡ  ଚାରପିାଖେର େଦୗଡବିା ଆରƗ କେଲ । 
A 126 େସେକŢେର , B 154 େସେକŢେର ଏବଂ C 99 େସେକŢେର େଗାଟଏି 
େଘରା ସƓťୂƽ କରŽ ି। େକେତ ସମୟ ପେର େସମାେନ ପୁଣଥିେର ଆରƗ କରିǆବା 
Ƴାନେର େଭଟ େହେବ?  

A) 23 ମନିǓି  ଏବଂ 6 େସେକŢ  

B) 26 ମନିǓି  ଏବଂ 6 େସେକŢ  
C) 46 ମନିǓି   
D) 42 ମନିǓି  ଏବଂ 36 େସେକŢ  

 

 
 
51) Radius of the incircle of an equilateral triangle with 
side 156√3 cm is  

A) 70 cm  
B) 68 cm  
C) 82 cm  
D) 78 cm  

 

 
 
51) 156√3 େସମି ବାହୁ ǆବା ଏକ ସମବାହୁ ǿଭୁିଜ ର ବୃŧ ର ଅŶƽବȻାସ 
__________ ଅେଟ  

A) 70 େସମି  
B) 68 େସମି  
C) 82 େସମି  
D) 78 େସମି  

 

 
 
52) The length of the hour hand is 7 cm. What is the area 
of the sector traced by the hour hand after it has moved 
through 4 hours?  

A) 51.33 cm2  
B) 48.33 cm2  
C) 58.33 cm2  
D) 55.33 cm2  

 

 
 
52) ଘŠା କŠା ର ଲମȴ 7 େସମି ଅେଟ। ଏହା 4 ଘŠା ବୁଲିସାରବିା ପେର ଘŠା 
କŠା Ÿାରା େǺǩ େହାଇǆବା େŁǿର େŁǿଫଳ େକେତ ଅେଟ?  

A) 51.33 େସମି2  
B) 48.33 େସମି2  

C) 58.33 େସମ2ି  
D) 55.33 େସମ2ି  

 

 
 
53) A 20 litres of milk contains 20% of water. Extra water 
is added to it to make it to 50% milk. The quantity of milk 
has to be added further to bring it back to 20% of water is  

A) 60 litres  
B) 48 litres  
C) 50 litres  
D) 20 litres  

 

 
 
53) େଗାଟଏି 20 ଲିଟର ଦୁŇେର 20% ପାଣି ଅଛ।ି ଦୁŇ ପରମିାଣ 50% କରବିା 
ପାଇଁ ଅǇକ ପାଣି ମିȎଣ କରାଗଲା। ଏǆେର ପାଣରି ପରମିାଣ 20%କୁ ପୁଣି 
େଫରାଇ ଆଣବିା ପାଇଁ ମଶିା ଯିବାକୁ ǆବା ଦୁŇର ପରମିାଣ େହଉଛ ି 

A) 60 ଲିଟର  

B) 48 ଲିଟର  
C) 50 ଲିଟର  
D) 20 ଲିଟର  

 

 
 
54) The highest common factor of 72 and 168 is  

A) 4  
B) 24  
C) 12  
D) 6  

 

 
 
54) 72 ଏବଂ 168ର ସେବƽାő ସାଧାରଣ ଗଣୁନୀୟକ େହଉଛ ି 

A) 4  
B) 24  

C) 12  
D) 6  
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55) Salaries of Ramesh and Sharan are in the ratio 3 : 5. 
If the salary of each is increased by Rs. 5100, the new 
ratio becomes 30 : 49. What is the new salary (in Rs.) of 
Ramesh?  

A) 4,08,000  
B) 2,04,000  
C) 1,02,000  
D) 56000  

 

 
 
55) ରେମଶ ଏବଂ ଶରନŋ ଦରମାର ଅନୁପାତ 3 : 5 । ଯଦ ିଉଭୟŋ ଦରମା 
Rs. 5100 ବୃŶି ପାଏ େତେବ ନୂତନ ଅନୁପାତ 30 : 49 େହାଇଯାଏ । ରେମଶŋ 
ନୂତନ ଦରମା ( Rs.େର) େକେତ  ? 

A) 4,08,000  

B) 2,04,000  
C) 1,02,000  
D) 56000  

 

 
 
56) If A= {1,2,3,6,8,10}, then the cardinality of the set A is  

A) 8  
B) 6  
C) 10  
D) 3  

 

 
 
56) ଯଦ ିA= {1,2,3,6,8,10}, େତେବ େସଟ A ର କାଡǃନାଲିଟ ିେହଉଛ ି 

A) 8  
B) 6  

C) 10  
D) 3  

 

 
 
57) Profit earned by selling a product for Rs. 1060 is 20% 
more than the loss incurred by selling the product for Rs. 
950. The price at which the article is to be sold to earn 
20% profit is  

A) Rs. 1260  
B) Rs. 1860  
C) Rs. 1500  
D) Rs. 1200  

 

 

57) େଗାଟଏି ସାମǲୀକୁ Rs.1060 େର ବǰିି କେଲ େଯଉଁ ଲାଭ ହୁଏ ତାହା ଉĽ 
ସାମǲୀକୁ Rs.950 େର ବǰିି କେଲ େଯଉଁ Łତ ିହୁଏ ତା’ଠାରୁ 20% ଅǇକ। ଏହ ି
ସାମǲୀକୁ େକେତ ଟŋାେର ବକିେିଲ 20% ଲାଭ େହବ ତାହା େହଉଛ ି 

A) Rs. 1260  
B) Rs. 1860  
C) Rs. 1500  

D) Rs. 1200  
 

 
 
58) In a class 50% of the students like hockey, 80% like 
cricket and 40% like both. What % of the students like 
none of these games?  

A) 10%  
B) 30%  
C) 20%  
D) 40%  

 

 
 
58) େଗାଟଏି େȎଣୀେର 50% ବଦିȻାଥƽୀ ହକକୁି ପସƃ କରŽ,ି 80% ǰେିକଟକୁ 
ପସƃ କରŽ ିଓ 40% ଉଭୟକୁ ପସƃ କରŽ ି|େକେତ % ବଦିȻାଥƽୀ ଏଗଡୁକିରୁ 
େକୗଣସି େଖଳ ପସƃ କରŽ ିନାହ ǂ?  

A) 10%  
B) 30%  
C) 20%  
D) 40%  

 

 
 
59)  

A) 3  
B) 1  
C) 4  
D) 2  

 

 
 
59) ଯଦ ି , ତାେହେଲ  

A) 3  
B) 1  

C) 4  
D) 2  
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60) Equation of a circle with centre (0,0) and radius r is 
equal to  

A) X2+Y2= r  
B) X2+Y2=0  
C) X2+Y2=r2  
D) X2 -Y2=r2  

 

 
 
60) େକƄ ସହତି ବୃŧ ର ସମୀକରଣ (0,0) ଅେଟ ଓ ଅŶƽ ବȻାସ r 
___________ ସହତି ସମାନ ଅେଟ।  

A) X2+Y2= r  
B) X2+Y2=0  
C) X2+Y2=r2  

D) X2 -Y2=r2  
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Section 7 - PaperII-Social Science 

 

61) Which of the following tribes were known as Huns?  

A) Thodas  
B) Nomad Mongol  
C) Ghond  
D) Sugahi  

 

 
 
61) ନେିମȪାĽ ମżରୁ େକଉଁ ଜନଜାତମିାେନ ହୁଣ ଭାବେର ଜଣାଶଣୁା ǆେଲ?  

A) େଥାଡ଼ା  
B) ଯାଯାବର ମେŏାǤ   
C) େଗାŢ  
D) ସଗୁାହ ି 

 

 
 
62) The process of transformation of water vapour into 
water is called  

A) Transpiration  
B) Condensation  
C) Saturation  
D) Evaporation  

 

 
 
62) େଯ଼ଉଁ Ȅǰିୟାେର ଜଳୀୟବାƬ ଜଳବƃୁିେର ପରଣିତ ହୁଏ, ତାକୁ କଣ କୁହାଯ଼ାଏ 
?  

A) ଅବେଶାଷଣ  

B) ଘନୀକରଣ  
C) ସଂତୃƌୀକରଣ  

D) ବାƬୀକରଣ  
 

 
 
63) Which of the following dynasties was founded by Sher 
Shah?  

A) Sikh dynasty  
B) Rajput dynasty  
C) Mughal dynasty  
D) Sur dynasty  

 

 
 

63) ନେିମȪାĽ ମżରୁ େକଉଁ ରାଜବଂଶ େଶǣ  ଶାହŋ Ÿାରା Ƴାପିତ େହାଇǆଲା?  

A) ଶǊି ରାଜବଂଶ  

B) ରାଜପୁତ ରାଜବଂଶ  
C) େମାଗଲ ରାଜବଂଶ  
D) ସରୁ ରାଜବଂଶ  

 

 
 
64) Which of the following is used to study the movement 
of plates in the Earth's crust?  

A) Asthenosphere Plate  
B) Plate Tectonics  
C) Plate Ophiolites  
D) Mantle Plate   

 

 
 
64) ନେିମȪାĽ ମżରୁ େକଉଟଁ ି ପୃǆବୀର କଠନି ଅଂଶେର େପȲǓ ଗୁଡ଼କିର ଚଳନର 
ଅżୟନ ନମିେŽ ବȻବହୃତ ହୁଏ?  

A) ଆେƳେନାƶିୟର େପȲǓ    
B) େପȲǓ  େଟେକȡାନŅି  
C) େପȲǓ  ଓଫିଓଲାଇଟȷ  
D) ମȻାେŠଲ େପȲǓ   

 

 
 
65) Which among the following countries is considered to 
have a Rigid Constitution?  

A) United States of America  
B) India  
C) United Kingdom  
D) South Africa  

 

 
 
65) ନେିମȪାĽ ମżରୁ େକଉଁ େଦଶର ଏକ କେଠାର ସƖିଧାନ ରହଛି?ି  

A) ଯĽୁରାƩ ଆେମରିକା  
B) ଭାରତ  

C) ଯĽୁରାଜȻ  
D) ଦŁିଣ ଆȅିକା  
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66) Which of the following layers of the Earth's 
atmosphere is surrounded by a strong magnetic field?  

A) Troposphere  
B) Magnetosphere  
C) Mesosphere  
D) Stratosphere  

 

 
 
66) ନେିମȪାĽ ମżରୁ ପୃǆବୀର ବାୟୁମŢଳର େକଉଁ ଅଂଶ ଶĽିଶାଳୀ ଚୁମȴକୀୟ 
େŁǿ Ÿାରା ପରେିବƨତି?  

A) େǺାେପାƶିୟର  

B) ମȻାେňେଟାƶିୟର  
C) େମେଜାƶିୟର  

D) Ʃାେଟାƶିୟର  
 

 
 
67) Who among the following appoints the Administrator 
for Union Territory in India?  

A) Prime minister  
B) Chief Minister  
C) Governor  
D) President  

 

 
 
67) ନେିମȪାĽ ମାନŋ ମżରୁ କଏି ଭାରତେର େକƄଶାସତି ଅřଳର Ȅଶାସକ 
ନଯୁିĽ କରŽ?ି  

A) Ȅଧାନମſୀ  
B) ମଖୁȻମſୀ  
C) ରାଜȻପାଳ  
D) ରାƩପତ ି 

 

 
 
68) If the time of a place 'A' at the prime meridian is 6:00 
PM, what will be the time of a place 'B' 30° west of the 
prime meridian?  

A) 5:00 PM  
B) 8:00 PM  
C) 4:00 PM  
D) 7:00 PM  

 

 
 

68) ଯ଼ଦ ି Ȅଧାନ ମżƃନି େରଖା ଉପେର 'କ'Ƴାନର ସମୟ  ସƆȻା 6 ଟା  ହୁଏ , 
େତେବ 30º ପƢିମେର ǆବା ଏହା ଉପେର ǆବା  ଅନȻ ଏକ Ƴାନ  'ଖ'ର ସମୟ 
େକେତ େହବ ?  

A) ଅପରାƺ 5 ଟା  
B) ରାǿ ି8 ଟା  
C) ଅପରାƺ 4 ଟା  
D) ରାǿ ି7 ଟା  

 

 
 
69) In which year, did the first meeting of the Constituent 
Assembly of India take place?  

A) 1946  
B) 1944  
C) 1947  
D) 1945  

 

 
 
69) େକଉଁ ବଷƽେର ଭାରତର ସାƖିଧାନକି ସଭାର Ȅଥମ େବଠୖକ ଅନƪିତ 
େହାଇǆଲା?  

A) 1946  
B) 1944  

C) 1947  
D) 1945  

 

 
 
70) According to the National Forest Policy 1952, what 
percentage of total geographical land of India should be 
covered by forests?  

A) 35%  
B) 33%  
C) 25%  
D) 23%  

 

 
 
70) 1952 ମସହିାର ଜାତୀୟ ବନȻ ପଲିସ ି ଅନୁଯ଼ାୟୀ, ଭାରତର  େକେତ 
ଶତାଂଶ  େଭୗେଗାଳକି ଜମି ଅରଣȻ Ÿାରା ଆŒାଦତି େହବା ଦରକାର?  

A) 35%  

B) 33%  
C) 25%  

D) 23%  
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71) Which of the following reports was a result of a 
challenge to prepare a Draft Constitution by the Congress 
given by the Secretary of State for India, Lord 
Birkenhead?  

A) Prasad Report  
B) Gandhi Report  
C) Tilak Report  
D) Nehru Report  

 

 
 
71) ନେିମȪାĽ ମżରୁ େକଉଁ ରେିପାଟƽ ଭାରତ ପାଇଁ ରାଜȻ ସଚବି ଲଡƽ ବେିକƽǜ େହǕ  
Ÿାରା କଂେǲସ ଏକ ସƖିଧାନ ଖସଡ଼ା ȄƱୁତ ି ପାଇଁ କରାଯାଇǆବା ଆହȴାନର 
ପରଣିାମ?  

A) Ȅସାଦ ରେିପାଟƽ  
B) ଗାƆୀ ରେିପାଟƽ  
C) ତଳିକ ରେିପାଟƽ  
D) େନହରୁ ରେିପାଟƽ  

 

 
 
72) What is the total length of a meridian?  

A) 0°  
B) 360°  
C) 180°  
D) 90°  

 

 
 
72) ମżƃନି େରଖାର ସବƽେମାǓ େଦଘୖƽȻ େକେତ ?  

A) 0 ଡǲିୀ  
B) 360  ଡǲିୀ  
C) 180  ଡǲିୀ  
D) 90  ଡǲିୀ  

 

 
 
73) Taxol is an antimitotic agent used to treat various 
forms of cancer. From the bark of which of the following 
trees is this derived?  

A) Pine tree  
B) Eucalyptus tree  
C) Yew tree  
D) Alder tree  

 

 
 

73) ବଭିିƊ Ȅକାରର କକƽଟ େରାଗ  ଉପଚାର କରବିାେର ଟȻାେŅାǤ , ଏକ Ȅକାର 
ଆŠବିଡ ିବା ȄତପିŢି ଅେଟ. ଏହା େକଉଁ ଗଛର ଛାଲିରୁ ȄƱୁତ େହାଇଥାଏ ?  

A) ପାଇǜ ଗଛ  
B) ନୀଳଗିରି ଗଛ  
C) ଇୟୁ ଗଛ  

D) ଆଲȣǣ ଗଛ  
 

 
 
74) Which of the following movements was started as the 
result of British decision to partition Bengal?  

A) Swadeshi Movement  
B) Kheda Movement  
C) Dandi March  
D) Non-cooperation Movement  

 

 
 
74) ବŏ ବଭିାଜନ ନମିେŽ Ȇଟିଶିମାନŋ ନƬିŧରି ପରଣିାମ ମżେର ନେିମȪାĽ 
ମżରୁ େକଉଁ ଆେƃାଳନ ଆରƗ େହାଇǆଲା?  

A) Ƹେଦଶୀ ଆେƃାଳନ  

B) େଖଡ଼ା ଆେƃାଳନ  
C) ଦାŢି ଅଭିଯାନ  
D) ଅସହେଯାଗ ଆେƃାଳନ  

 

 
 
75) Who among the following conduct the elections for 
municipalities in India?  

A) Legislative Assembly  
B) Chief Minister  
C) State Election Commission  
D) Central Election Commission  

 

 
 
75) ନେିମȪାĽମାନŋ ମżରୁ କଏି ନଗରପାଳକିାର ନବିƽାଚନ ପରିଚାଳନା କରŽ?ି  

A) ବଧିାନ ସଭା  
B) ମଖୁȻମſୀ  
C) ରାଜȻ ନବିƽାଚନ କମଶିନ  

D) େକƄ ନବିƽାଚନ କମଶିନ  
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Section 8 - PaperII-Science 

 

76) The leaves of which of the following plants close or 
fold when someone touches them?  

A) Mimosa Pudica plant  
B) Switchgrass plant  
C) Water Lily plant  
D) Spinach plant  

 

 
 
76) ନମିȪମżରୁ େକଉଁ ଉŹିଦର ପǿଗଡୁକୁି ଛୁଇଁ େଦେଲ େସଗଡୁକି ବƃ ବା ଭାŏି 
େହାଇଯାଏ?  

A) ମାଇେମାସା ପଡୁକିା  
B) Ƹିଚǲାସ  

C) ୱାଟର ଲିଲି  
D) ƶିନାଚ  

 

 
 
77) Out of the following options, select the example of 
exothermic reaction.  

A) Dissolving ammonium chloride solid in water  
B) Burning of coal  
C) Evaporating liquid water  
D) Melting ice  

 

 
 
77) ନମିȪ ବକିƝଗଡୁକି ମżରୁ, ଏକେଜାଥମǃକ Ȅତǰିିୟାର ଏକ ଉଦାହରଣ ଚୟନ 
କରŽୁ  

A) ଜଳେର କଠନି ଆେମାନୟିମ େକȲାରାଇଡ େଗାଳାଇବା  
B) େକାଇଲା ଜଳବିା  
C) ଜଳ ବାƬୀଭୂତ େହବା  
D) ବରଫ ତରଳବିା  

 

 
 
78) Which of the following organisms have well-organised 
nucleus with a nuclear membrane?  

A) Sulfolobus  
B) Escherichia  
C) Diatoms  
D) Streptomyces  

 

 

78) ନମିȪମżରୁ େକଉଁ ଅଣୁଜୀବର ନୁȻକȲୀୟ ଝơିୀ ସହତି ଏକ ସ-ୁସଂଗଠତି 
ନୁȻକିȲଅସ ଥାଏ?  

A) ସଲେଫାେଲାବସ  
B) ଏେƯରଚିଆି  

C) ଡାଏଟମȷ  
D) େƩେପȡାମାଇେସସ  

 

 
 
79) Which among the following options is an example of a 
Carnivorous plant that is adapted for living in soils that 
does not provide it enough nitrogen?  

A) Mimosa Pudica plant  
B) Dionaea Muscipula plant  
C) Agaricus plant  
D) Victoria Amazonica plant  

 

 
 
79) ନମିȪମżରୁ େକଉଁଟ ିଏକ ମାଂସାଶୀ ଉŹିଦର ଏକ ଉଦାହରଣ ଯାହା ଯେଥƨ 
ଯବŁାରଜାନ Ȅଦାନ କରୁନǆବା ମାଟେିର ବřବିାେର ଅନୁକୂଳ େହାଇଯାଇଛ?ି  

A) ମେିମାସା ପୁଡକିା ଉŹିଦ  

B) ଡଓିନ ିମୁƯିପଲୁା ଉŹିଦ  
C) ଆଗାରକିସ ଉŹିଦ  

D) ଭିେକȡାରଆି ଆମାେଜାନକିା ଉŹିଦ  
 

 
 
80) The surface temperature of the sun which has 
maximum energy emission at 500 nm is 6000 K. The 
temperature of star which has maximum energy emission 
at 400 nm will be  

A) 8500 K  
B) 6500 K  
C) 7500 K  
D) 4500 K  
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80) 500 nmେର ସବƽାǇକ ଶĽି ବକିରିଣ ǆବା ସଯୂƽȻର ପୃƪ ତାପମାǿା 6000 
K। 400 nmେର ସବƽାǇକ ଶĽି ବକିରିଣ ǆବା ତାରକାର ତାପମାǿା େହଉଛ ି 

A) 8500 K  
B) 6500 K  
C) 7500 K  

D) 4500 K  
 

 
 
81) A rubber cord catapult has cross-sectional area 25 
mm2 and initial length of rubber cord is 10 cm. It is 
stretched to 5 cm and then released to project a missile of 
mass 5 g. Taking Yrubber = 5 x 108 N/m2, velocity of 
projected missile is  

A) 20 ms-1  
B) 200 ms-1  
C) 250 ms-1  
D) 100 ms-1  

 

 
 
81) ଏକ ବାଟୁଳରି ǰସ େସŅନ େŁǿ 25 mm2 ଏବଂ ȄାରƗିକ ରବର 
େଡାରର ଲମȴ େହଉଛ ି10 cm | ଏହାକୁ 5 cm ପଯƽȻŽ ଟଣା ଗଲା ଏବଂ  5 
g  ଭାର ିଏକ େŁପଣାƲକୁ ȄେŁପ କରାଗଲା | ȄେŁପତି େŁପଣାƲଟରି େବଗ 
େକେତ ? Yrubber = 5 x 108 N/m2ନଆିଯିବ 

A) 20 ms-1  
B) 200 ms-1  
C) 250 ms-1  

D) 100 ms-1  
  
 
82) Which of the following metals is a least reactive metal?  

A) Iron  
B) Lead  
C) Tin  
D) Gold  

  
 
82) ନମିȪମżରୁ େକଉଁ ଧାତୁ ସବୁଠାରୁ କମ Ȅତǰିିୟାଶୀଳ?  

A) ଲୁହା  
B) ସୀସା  
C) ଟଣି  

D) ସନୁା  
 

83) A drunkard walking in a narrow lane takes 8 steps 
forward and 6 steps backward, followed by 8 steps 
forward and 6 steps backward, and so on. Each step is 1 
m and requires 1 s. How long the drunkard takes to fall in 
a pit 18 m away from the start?  

A) 126 s  
B) 62 s  
C) 28 s  
D) 78 s  

 

 
 
83) ଜେଣ ମଦୁଆ େଗାଟଏି ପତଳା ରାƱାେର 8 ପାଦ ଆଗକୁ େନବା ସମୟେର 6 
ପାଦ ପଛକୁ େନଉǆଲା, ପଣୁି 8 ପାଦ ଆଗକୁ ଓ 6 ପାଦ ପଛକୁ େନଉǆଲା ଓ 
େସହପିରି ଚାଲୁǆଲା | Ȅତ ିପାଦ େହଉଛ ି1 m ଓ 1 s ସମୟ ଲାଗୁǆଲା | ଆରƗରୁ 
18 m ଦୂରେର ǆବା ଏକ ଗାତେର ପଡିବା ପାଇଁ ତା’କୁ େକେତ ସମୟ ଲାଗବି?  

A) 126 s  
B) 62 s  

C) 28 s  
D) 78 s  

 

 
 
84) If two bodies stick together after collision and move as 
a single body, the collision is said to be  

A) elastic  
B) perfectly elastic  
C) inelastic  
D) perfectly inelastic  

  
 
84) ଯଦ ିଦୁଇଟ ିବƱୁ ଧļା େହବା ପେର ଲାଗିଯାଆŽ ିଏବଂ ଏକକ ବƱୁ ଭାବେର 
ଗତ ିକରŽ ିେତେବ ଏହ ିଧļାକୁ କ’ଣ କୁହାଯିବ  

A) ନମନୀୟ  

B) ସƓୂťƽ ନମନୀୟ  
C) ଅଣ ନମନୀୟ  
D) ସƓୂťƽ ଅଣ ନମନୀୟ  

  
 
85) Saccharomyces cerevisiae is a scientific name of 
which of the following options?  

A) Cottage Cheese  
B) Baker's Yeast  
C) Penicillium Mold  
D) Baking Soda  
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85) ସାକାେରାମାଇସସି େସରଭିସିି ନମିȪ ବକିƝଗଡୁକି ମżରୁ କାହାର େବŗୖାନକି 
ନାମ?  

A) କେଟଜ ଚଜି  
B) େବକସƽ ଇƨ  
C) େପନସିଲିିୟମ େମାǤ ଡ  

D) େବକŏି େସାଡା  
 

 
 
86) Which of the following organelles of a plant cell helps 
in oxidative phosphorylation?  

A) Golgi bodies  
B) Lysosomes  
C) Mitochondria  
D) Nucleus  

 

 
 
86) େଗାଟଏି ଉŹିଦ େକାଷର ନମିȪ ଅŏଗଡୁକି ମżରୁ େକଉଁଟ ି ଅŅେିଡଟଭି 
ଫସେଫାରେିଲସନେର ସାହାଯȻ କେର?  

A) ଗǤ ଗ ିବଡ ି 

B) ଲାଇେସାେଜାମ  
C) ମାଇେଟାକţଆି  
D) ନୁȻକିȲଅସ  

 

 
 
87) A force acts on a 30 g particle in such a way that the 
position of the particle as a function of time is given, x = 3t 
- 4t2 + t3, where x is in meters and t is in second. The work 
done during the first four seconds is  

A) 450 mJ  
B) 490 mJ  
C) 576 mJ  
D) 530 mJ  

 

 
 
87) 30 ǲାମ ଓଜନର ଏକ ବƱୁ ଉପେର ଏକ ବଳ ଏପର ିଭାବେର Ȅେୟାଗ 
କରାଗଲା େଯ, ଏହ ିବƱୁର Ƴିତ ିସମୟǰେମ  x = 3t - 4t2 + t3 େର ପହřଥିାଏ, 
େଯଉଠଁାେର xମିଟରେର ଏବଂ t େସେକŢେର ରହଛି।ି Ȅଥମ 4 େସେକŢେର 
ସƓାଦତି େହାଇǆବା କାଯƽȻ େହଉଛ ି 

A) 450 mJ  

B) 490 mJ  

C) 576 mJ  
D) 530 mJ  

 

 
 
88) Read the following statements and choose the 
CORRECT option.  
(i) Sporulation is a form of asexual reproduction which is 
common in algae and fungi.  

(ii) Spores are special reproductive structures that may be 
motile or non-motile. 

 
A) (i) is TRUE and (ii) is FALSE  
B) (i) is FALSE and (ii) is TRUE  
C) (i) is FALSE and (ii) is FALSE  
D) (i) is TRUE and (ii) is TRUE  

 

 
 
88) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ |  
(i) େƶାରୁେଲସନ େହଉଛ ିଲିŏ ବହିୀନ Ȅଜନନର ଏକ ରୂପ ଯାହା ଆଲେଗ ଓ 
କବକଗଡୁକି ଠାେର ସାଧାରଣ |  

(ii) େƶାରଗଡୁକି େହଉଛ ି ବେିଶଷ Ȅଜନନ ସଂରଚନା ଯାହା ଚଳନଶୀଳ ବା 
ଚଳନହୀନ େହାଇପାରŽ ି| 

 
A) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  

B) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  
C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  
D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

 

 
 
89) Read the following statements and choose the 
CORRECT option.  
(i) Regions of chromatin which are loosely packed during 
cell division are known as heterochromatin. 

(ii) Heterochromatin contains active genes. 

 
A) (i) is TRUE and (ii) is FALSE  
B) (i) is FALSE and (ii) is FALSE  
C) (i) is FALSE and (ii) is TRUE  
D) (i) is TRUE and (ii) is TRUE  
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89) ନମିȪ ଉĽିଗଡୁକି ପଢŽୁ ଓ ସଠକି ବକିƝ ଚୟନ କରŽୁ  |  
(i) େକାଷ ବଭିାଜନ ସମୟେର ହାଲୁକା ଭାେବ ଚାପି େହାଇǆବା େǰାମାଟନି 
େŁǿଗଡୁକୁି େହେଟେରାେǰାମାଟନି କୁହାଯାଏ | 

(ii) େହେଟେରାେǰାମାଟନିେର ସǰିୟ ଜନି ରହଥିାଏ | 

 
A) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଭୁଲ  
B) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଭୁଲ  

C) (i) େହଉଛ ିଭୁଲ ଓ (ii) େହଉଛ ିଠକି  
D) (i) େହଉଛ ିଠକି ଓ (ii) େହଉଛ ିଠକି  

 

 
 
90) In old age, arteries carrying blood in the human body 
become narrow resulting in an increase in the blood 
pressure. This follows from  

A) Archimede's principle  
B) Bernoulli's law  
C) Stoke's law  
D) Pascal's law  

 

 
 
90) ବୃŶାବƳାେର ମଣିଷର ଶରୀରେର ରĽବାହୀ ଧମନଗିଡ଼ୁକି ସŋୁଚତି 
େହାଇଯାଏ ଫଳେର ରĽଚାପ ବୃŶ ିପାଏ। ଏହା କାହାକୁ ଅନୁସରଣ କେର  

A) ଆକƽେମଡǩି ŋ ସŶିାŽ  
B) ବେťƽାଲିŋ ନୟିମ  
C) େƨାǉ ŋ ନୟିମ  
D) ପାƯାଲŋ ନୟିମ  
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Answer Key 

 

1.  C 
2.  D 
3.  B 
4.  D 
5.  A 
6.  D 
7.  B 
8.  A 
9.  A 
10. C 
11. D 
12. B 
13. C 
14. B 
15. A 
16. C 
17. C 
18. A 
19. C 
20. D 
21. B 
22. D 
23. A 
24. C 
25. C 
26. D 
27. A 
28. C 
29. D 
30. C 

 

31. A 
32. C 
33. D 
34. B 
35. A 
36. B 
37. A 
38. A 
39. D 
40. C 
41. B 
42. D 
43. B 
44. D 
45. D 
46. C 
47. C 
48. A 
49. B 
50. B 
51. D 
52. A 
53. B 
54. B 
55. C 
56. B 
57. D 
58. A 
59. B 
60. C 

 

61.  B  
62.  B  
63.  D 
64.  B  
65.  A 
66.  B  
67.  D 
68.  C  
69.  A 
70.  B  
71.  D 
72.  C  
73.  C  
74.  A 
75.  C  
76.  A 
77.  B  
78.  C  
79.  B  
80.  C  
81.  C  
82.  D 
83.  D 
84.  D 
85.  B  
86.  C  
87.  C  
88.  D 
89.  B  
90.  B  
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